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COMMERCE
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

marks. Attempt all the questions.

Which of the following denote the

structural changes in Indian economy ?

(A) Primary sector contribution has
gone down.

(B) Service sector contribution has
gone up.

(C) Secondary sector has not
changed much.

(D) All of the above

Broad Money has to be sensitized
through :

(A) CRR

(B) SLR

(C) Repo Rate

(D) All of the above

Which one is not an element of legal

environment ?

(A) Act of Parliamentarians in Lok
Sabha

(B) Indian Contract Act, 1872

(C) Indian Partnership Act, 1932

(D) Negotiable instruments  Act,
1881

Out of the following, which are four
dimensions of Human Development
Index ?

(1) Life Expectancy

(i) Literacy Level

(ii1)) Success Rate of Marriages

(iv) Standard of Living

(v) Crime Rate

(vi) Corruption Level

(vil) Economic Entitlement

(viii) Foreign Visits

Codes :

(A) (1), (i1), (vi) and (viii)

(B) (), (i), (iv) and (vii)

(C) (1), (i11), (vi) and (vii)

(D) (ii), (v), (vii) and (viii)

Public Enterprise is defined as

(A) An organisation run by joint
efforts of Centre and State
Governments.

(B) An organisation which caters to
the needs relating to public
utilities.

(C) An organisation in which capital
is invested by public.

(D) An organisation owned and
managed by public authorities
for definite set of public
purposes.

Match List-I with List-II and select the
correct answer :

List-1 List - 1I
(i) Measurement (a) Accrues to
of income the equity of
owners
(ii) Recognition (b) Recognition
of expense of revenue
(iii) Basis of (c) Matching
realization revenue with
expenses
(iv) Identification (d) Accounting
of revenue period
Codes :

1 @G @) (av)
A @ @ © (@
B) b)) @ (@ (@
© (© @ @ (b
D) (© @ @®d) ()
Consider the following items :
(i) Debentures
(i1) Prepaid rent
(iii) Interest accrued
(iv) Bank overdraft
Which of them are current liabilities ?
(A) (), (1), (iii) and (iv)
(B) (iv)
(C) (i), (ii1) and (iv)
(D) (i), (i) and (iii)
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Ty - 11

fAE9T : =T UvT § U (50) 9 - ToshedE R § | Ui U S el (2) 3Tk € | Wl ue A € |

1.

AfaRad § | & A1 IRAT 37 e

T GLEHTcH GRedAT ol ST & 2

(A) TIHE &F H ANGH HH U T
Tl

(B) WaT & T AT a1 € |

(C) Tadiass & § ®fE 31fyeh e =l
TIE |

(D) S Tt

g g1 i foheeh GRT Holgeiel I
B 2

(A) dI. AR, R,

(B) TH. TA. AN

(C) =T

(D) S g

fAfafea 9 @ &= @1 fafg-o=ierer =
T 78T & 9

(A) I AT H FERT % Fe

(B) R WieRT 3Ttafad, 1872

(C) YRAT AERR Aa=ad, 1932
(D) ekt forae etfufam, 1881

freffed § ¥ 9Fa faea gasis &
TR A A G & 2

(i)  STe Freaar

(i) TeRET T

(i) foramel s Therdr 3T
(iv) Stad @®

(v) 3IWEX

(vi) YEMER & &R

(vii) 3T MHR

(viii) fereett ammd

E T

(A) (i), (ii), (vi) 3 (viii)
B) (i), (ii), (iv) R (vii)
(C) (i), (iii), (vi) 3T (vii)
(D) (i), (v), (vii) 3T (viii)

S.

6.

eI SUhH i TH ThR TS foha
S &

(A) TH T 59 F5 T T TWHRI
% G T FRT AT A & |

(B) U$ WIS S oAb Sudimmared
TrSTt STEvIHAT3T i et el & |

(C) U G gH Goft & aer ot
gRT fepan ST € |

(D) UH Tied STaeh @i Ue e
sl eIy I CE I RED
32l % T foher ST &

el B eIl W GAferd HifsTT 31 T8l

3T T I HIMT
el - 11

e -1
(i) MAH AT (a) TAHA THAT Bl
T BT & |
(b) 3T T T
(c) I@HNTAT A
e
(d) o 3fary

(i) @9 = A=
(iii) STl & STeR

(iv) =T &

LREIE]
&<

i) () @) (iv)
A) (@ b)) (© (@
B) b @ @© (@
© © @ @ O
D) © @ b (@

o

frafeafead o foar i
(i) A

(i) Y e TR

(iii) 3T =

(iv) o atfufasy

Te] MMaea | Tfferd g
(A) (i), (i), (iii) 3 (iv)

B) (iv)

(C) (i), (iii) 3 (iv)

(D) (i), (ii) A (i)
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10.

11.

Conversion cost is the sum of

(A) Indirect
overhead

wages and factory

(B) Direct wages, direct expenses
and factory overhead

(C) Direct material cost and indirect
wages

(D) Prime cost and
distribution overhead

selling &

(A) Assertion : Premium received on
issue of shares is credited to
share premium account but not to
Profit and Loss account.

(R) Reasoning : Since share premium
is not a trading profit, it is not
distributed to shareholders.

(A) Both (A) and (R) are true but (R)
is not correct explanation to (A).

(B) (A)is false but (R) is correct.

(C) Both (A) and (R) are true and (R)
is correct explanation of (A).

(D) (A)is correct but (R) is false.

Consider the following :

(i)  Basic defensive and interval ratio
(i1)) Current ratio

(iii)) Superquick ratio

(iv) Quick ratio

Arrange these ratios in sequence to

reflect the liquidity in descending
order.

(A) (1), (1v), (111) and (1)
B) (1), (1), (iv) and (iii)
(C) (iv), (i1), (ii1) and (1)
(D) (@i1), (iv), (1) and (i1)

Normally Demand curve slopes
(A) Upward

(B) Downward

(C) Horizontal

(D) Vertical

12.

13.

14.

Which of the following refers to
Perfect Competition ?

(i) There are restrictions on buyers
and sellers

(i1)) There are no restrictions on
movement of goods

(iii) There are no restrictions on
factors of production

Correct one is

(A) only (1) and (i1)
(B) only (i1) and (iii)
(C) only (i) and (ii1)
(D) only (i)

Assertion (A): Total utility will be
maximum when marginal utility
to price of respective products
are equal.

Reason (R) : Deviation from this
situation leads to reduction in
maximum utility.

(A) (A) and (R) are not correct.

(B) (A) is correct but (R) is not
correct.

(C) (A)and (R) are correct.

(D) (A)is incorrect, (R) is correct.

Match List-1 with List-II and select the
correct answer.

List - I List — 11

(i) Survival (a) Economic
Objective

(1i1) R.O.I (b) Natural Urge

(iii)) Growth (c) Business
Purpose

(iv) Innovation (d) Primary
Objective

Codes :

(@ (b © @
A) () @) @Gv) @
B) ) @ i) (v)
© @ @G (i) ()
(D) Gv) i) () (1)
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10.

11.

O] AN (77 &1 A8 €

(A) 3TICTET TTE 3R HREMT 3TN

(B) Il OOTG, UedeT @Y AR HREHT
IuRE"

(C) VeIl R AN S 3TveeT
LEEA

(D) F& @ R faska wd faaor
U

AT (A) : 3 F IR BH W S
yed et € 39 3fvr stfamed
T § Siig e S €, omy-ene
I § T TFE Sl A |

qE (R) : I 37T ST AT AT
T §, TEOT T OIEERH |
forafta =&t fopam < |

(A) (A) 3R (R) I G &, T (A) T
(R) T&T T & & |

(B) (A) TeId &, W= (R) Wl ¢ |

(C) (A) 3R (R) I TE¥ & 3T (A) HT
(R) &l TR T |

(D) (A) T E W (R) T ¢ |

frafafed X faar i

(i) T TIcH Tel TR ST
(i)  =Ie] AT

(iii) T @R A

(iv) @R

T ST B T FEK § HESE BT
TS 3TeRIEr s | ReTdT et &
(A) (i), (iv), (iii) 3 (i)

B) (), (ii), (iv) 3 (iii)

(C) (iv), (ii), (iii) 3T (i)

(D) (i), (iv), (i) 3 (ii)

HTT=IEET | 56 o @oT Bl &
(A) W H AT
(B) 9 =l 2T
(C) HHER &
(D) olwsed B

12.

frfefad & & &9 @1 ol afqeret @

ST AT & 2

() sharell 3K faskarett W duT o
|

(i) aEgel & oIH 9H W UEsar |
|

(iii) SUET % QEA W HE g T
g |

TE T B AT —

(A) Hae (i) 3 (ii)

(B) ot (ii) 3T (iii)

(C) &HaA (i) 3 (iii)

(D) e (i)

AMHIT (A) : T FHET TR SR
T SRS % Hed B S
TOH & 9 FoT ST Sty
Ul

qH (R) : 39 O ¥ oo BH W
Teha™ ST § HHT 3T & |

(A) (A) 3T (R) TET T E |

(B) (A) W&l ¢, W] (R) Tod & |

(C) (A) IR R) WIE |

(D) (A) ToTd &, W= (R) Tl & |

-1 Hﬁﬂ?ﬁ-{l Y gHferd HiTT T &
AL T TIT T -
e -1 = - 10

(i) STSEdar  (a) T9® 32T

(i) IR 3MME  (b) Wik oTerdr

(iii) Terepre (c) SAEANTH

=

(iv) Tavee (d) WA 2

=

4 .

(@ (b) (0 (d)
(A) () > Gv) (@)
B) ) @@ @>) @A)
© O @) @) @v)
D) Gv) (i) @) @)
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15.

16.

17.

18.

19.

Consider the oligopoly models :

(1) Sweezy’s kinked demand curve
model

(i1)) Newman and Morgenstern Game
Theory model

(iii)) Cournal’s duopoly model

(iv) Baumal’s sales maximisation
model

Arrange them in correct sequence as

per order of evolution.

(A)  (iv), (i), (i1), (1)

B) (D), (), (id), (iv)

(©) (i), (@), (1), (iv)

D) (@, (1), (1), (iv)

Which of the following is not a restricted
random sampling technique ?

(A) Stratified sampling

(B) Simple random sampling

(C) Systematic sampling

(D) Multistage sampling

Classification of respondents only on
the basis of gender is an application of
(A) Ordinal scale

(B) Nominal scale

(C) Interval scale

(D) Ratio scale

Karl  Pearson’s  co-efficient  of

correlation between two variables is

(A) the product of their standard
deviations

(B) the square root of the product of
their regression co-efficients

(C) the co-variance between the
variables

(D) None of the above

Statistical ~ software packages for
research in social sciences include

(A) SPSS

(B) STATA

(C) MiniTab
(D) All of the above

20.

21.

22,

23.

F-test is used to test the significance of
the differences between/among

(A) Two sample mean

(B) More than two samples mean

(C) Variance of two samples

(D) (B)and (C)

Match the following
List-I List-I1
(i) The Practice of (a) Henry
Management Fayol
(i) Philosophy of (b) F.W.
Management Taylor
(ii1) Scientific (c¢) Oliver
Management Sheldon
(iv) General and (d) Peter F
Industrial Drucker
Administration
Codes :

1 () @) @Gv)

A) (@ () () (@

B) @ (@ ® (a

© @ (© (@ (O

D) (© (@ @b (@

Identify the correct sequence of steps

involved in planning :

(1) Selecting the best course of
action

(i) Establishing the
activities

(iii) Establishment of objectives

(iv) Evaluating alternative courses

(v)  Determining alternative courses

(A) (1), (1), (iii), (iv) and (v)

(B) (iii), (v), (iv), (ii) and (i)

(C) (v), (iv), (iii), (i) and (i)

(D) (iii), (v), (iv), (i) and (ii)

Assertion (A) : One can be sure about
future course of actions by
making good plans.

Reasoning (R) : Planning brings
certainty in future course of
actions of an organisation.

(A) (R) is correct but (A) is not
correct.

(B) (A) is correct but (R) is not
correct.

(C) Both (A) and (R) are correct.

(D) Both (A) and (R) are not correct.

sequence of
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15.

16.

17.

18.

19.

ffafed seaiysr gfdes W foew

HIfTT

() TS 1 AR | 5 Aiaey

(i) = R AR ©a g
PlisEou)

(iii) =IvTeT T T5-3TTHR ufaey

(iv) S o fasha STIhaHeoT Hiaey

W B foEE & FAMER TE HHES

HITT |

(A)  (iv), (iii), (i), ()

B) (i), (1), (iii), (iv)

(©) (iib), (1), (i), (iv)

D) (), (i), (i), (iv)

=i & 9 #9 9@ uRdifbg agss
T TR TRl € 2

(A) TR T

(B) W ARG AT

(C) =Fared AT

(D)  Sg-|IAT AT

ST T hael ol & 3MER W
FITHIOT HIAT STTHAT &

(A) SHHTT HTISHH

(B) e AMIHT

(C)  3F=<RTeT ATIShH

(D) AT AIHH

Fel ToRET &1 S el & O ey
TR &

(A) STk A e 1 OHGA &
(B) 3T A TUTEHl o UG T

S
(C) =l % s Teloreet
(D) SWiF d F HiE Tel

gHieE foem A oeEaE % fom
HifeTehig Ay tehst | witrferd &
(A) TEUiTE ™

(B) wWwATIAT

(C) Tt s

(D) SWIe Tl

20. TR0 g & dra/fehT § 3= & Je

21.

22,

23.

T TRIRTOT A H ISR TohaT STl € 2
(A) & T AT

(B) & W Tk AT ATe

(C) amaﬁa—nmﬁﬂz
(D) (B) #R (O)

frferfaa =t gafera S
| = - 11

() TUREA®  (a) T
HASTHE FIA

(i) Twem®r 3% (b) UH S
-E S T

(iii) A= (c) offerer
-E S Jiee

(iv) STReT T8 (d) dTTw
TUSRZAC RS
USTHRZTH

&<

(i) (i) i) (@1v)
A) (@ ®) (© (@
B) @ (© @b (2
© d (© @ (®)
D © @ b (@
fasH & fafi= QT % SEishe o g
T
(i) U & 9 g
(i) TsraTshea & W 1 e
(iii) =TT B TG
(iv) SeR{cass OmT T G
(v) Ohieadh AT o o1
(A) (), (i), (i), (iv) 3T (v)
B) (i), (v), (iv), (ii) F (i)
(€) (V). (iv). (i), (if) 3R (i)
(D) (iii), (v), (iv), (i) 3 (i)

AT (A) : 3T AT & AT I
oy @l wE oy & uid sTveRd
3T T HHAT ¢ |

& (R) : U TS & JiaeT & ® oty
o fAfyeadr e €

(A) (R) WEl &, T (A) T ¢ |

(B) (A) W&l €, W] (R) ToId & |

(C) (A) 3T (R) IHT Tl & |

(D) (A) 31T (R) I TAT & |
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24.

25.

26.

27.

According to Kieth Devis, which one
1s not a barrier of communication ?

(A) Physical Barriers
(B) Technological Barriers
(C) Personal Barriers

(D) Linguistic Barriers

While establishing relation between
Maslow’s and Herzberg’s theories,
which Needs of Hierachy Theory will
fall under the Hygiene Factors ?

(A) Self actualisation, esteem and
social needs

(B) Esteem, social and safety needs

(C) Social, safety and physiological
needs

(D) Only social needs

Howard-Sueth model of consumer
behaviour is popularly known as

(A) Machine Model
(B) Human Model
(C) Marketing Model
(D) Purchase Model

To generate and facilitate any
exchange intended to satisfy human
needs or wants such that the
satisfaction of these wants occur with
minimal detrimental impact on the
natural environment is known as

(A) Aggressive marketing
(B) Operating marketing
(C) Green marketing

(D) All of the above

28.

29.

30.

31.

32.

All the activities involved in selling
goods or services directly to final
consumers for personal non-business
uses are done by

(A) Wholesalers

(B) Retailers

(C) Mediators

(D) Commission Agents

To manage a business well is to
manage its future and to manage the
future is to manage information is
termed as

(A) Management information system
(B) Marketing information system
(C) Future information system

(D) General information system

DAGMAR approach in marketing is
used to measure

(A) Public relations

(B) Advertising results
(C) Selling volume

(D) Consumer satisfaction

Which one is not an important
objective of Financial Management ?

(A) Profit Maximisation

(B) Wealth Maximisation

(C) Value Maximisation

(D) Maximisation of social benefits

Which one refers to cash inflow under

payback period method ?
(A) Cash flow before depreciation
and taxes

(B) Cash flow after depreciation and
taxes

(C) Cash flow after depreciation but
before taxes

(D) Cash flow before depreciation
and after taxes
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24.

H o * AR Fefefad °§ ¥ B
[ HIR | 3R 6 ¢ 2

(A) e TRty

(B) =TT 2Teriy

(C) AT g

(D) WTE ST

b 1| MG Cal s o) M Dl Fe et | M= s

T A ° shHaEdT Mg & B

FMETIHAT M HRBI & T

aigha gt 2

(A) T S, Ufder @
AT STEYEehdTd

(B) wi=r, i iR gRd
SMATTHAL

(C) s, JrmT AR RIS
SMETHATE

(D) choel AT SATI9THaTd

ST SIeR Tl gee-qee Hiew
T 3T ATH UG5 AT G ST ST &
(A) eI Higet

(B) WM HigA

(C) foquE Aee

(D) T HiedA

A SEvAshaTsti 3TIal STl ol qee
% fau et fafma @ 3= A @R
TS AT, ST U STEvIHarstt
qftc A g0 SUHN WFHash TAER0 T
ATH SHHE &, IH AT A &

(A) AHHE Ao

(B) vETeteh faaur

(C) BN fouue

(D) S g

28.

29.

30.

31.

32,

I3 AT WarsTl i yegeIadn 3t
ST a% fosrg A, S e TR
N T o fou fmar san 8, faes
ST ?

(A) e fashar

(B) W& foskar

C) T aIw™Y

(D) et

ol =HeEE T ST TauT AT Wi
H YT FAT § AT AT B v
AT A US4 &, SH T ST &

(A) o 9EId TaweA

(B) = UHId faqaue

(C) el ol et

(D) S\ GIAT UET

fomue & 1. T S, UH. U 3R, 3UH
AT T HIO9= | fopar ST & 2

(A) T THH
(B) Tor=Ta &1 aRoTH
(C) forsra ufmoT
(D) ST qfte

T vemem & for, Tt & & &=
T 3TTIH 29T el ¢ 2

(A) T 3TATHIHIOT

(B) & T STCATIHIHI0T

(C) HoT STeAMHIH]

(D) WM A TR

T JTAE SEY UEfd & S Al

TaTE T T AT BT € 2

(A) T T H ¥ I TR FoE

(B) B R & % 1% Tl Yele

(C) B & Ivdd WX & § Jd TRl
LIRS

(D) BE ¥ qI 3R I & GvET TR
PEIES
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33.

34.

3s.

The concept of present value is based
on the :

(A) Principle of compounding
(B) Principle of discounting
(C) (A)and (B)

(D) None of the above

Cost of capital from all the sources of
funds is called

(A) Specific cost
(B) Composite cost
(C) Implicit cost

(D) Simple Average cost

Match the following with most suitable
option :

(a) Modigiliani- (i) Commercial

Miller papers
Approach
(b) Net Operating (ii)) Working
Income Capital
Approach Management
(¢) Short term (i11) Capital
Money
Market Structure
Instrument

(d) Factoring
Codes :

(@ b (© @
(A) (v) () @ ()
(B) (i) Gv) @ ()
© Gi) G @ Gv)
D) @) aG) Gv) (@)

(iv) Arbitrage

36.

37.

38.

Which four are the factors influencing
the Human Resource Management of
an organisation ?

(1)  Size of workforce

(1) Employee Expectations
(iii)) Composition of workforce
(iv) Political influence

(v) Changes in technology
(A) (1), (1), (iii) and (iv)

(B) (1),31), (ii1) and (v)

(©) (D), (i), (iv) and (v)

(D) (1), (iii), (iv) and (v)

Assertion (A) : One can not be sure
about the quality of appraisal on
the basis of length of service.

Reasoning (R) : Initial appraisal and
promotional appraisal are done
separately and differently since
the length of service is different.

(A) (R) is correct but (A) is not
correct.

(B) (A) is correct but (R) is not
correct.

(C) (A) and (R) both are correct.
(D) (A) and (R) both are not correct.

Which of the following are covered
under the scope of Human Resource
Management ?

(i) Forecasting Human Resource
Needs

(1) Replacement Planning
(ii1)) Human Resource Dynamics

(iv) Human Resource Development
Planning

(v) Human Resource Audit
(A) (@), (1), (v)

B) (@), (i), (iii), (v)

(©) (iib), (v)

D) @), (1), (i), @v), (v)

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



33.

A HoT D TR SR &
(A) TosoT fagTa ™

(B) =1 @I g W

(C) (A) & (B)

(D) SWisd & ¥ HE T |

HT % FAE GEAT § YS Bl AT R
FHET STl &

(A) fafere arma

(B) W AT

(C) Miea @

(D) 9MEMA A™Ed HTd

frafafaa & fa-suged  fokedi |
GHfeTd T

e -1 = - 11
(a) WEfeEHr- () R
et sarT T
(b) IF TAGRA (i) HEMA
Teh ST PEIRSCEE]
(c) oogiers (i) ST ST
ST IR 90
(d) el (iv) Frfeeyst

3%

(@ (b) (o) (d)
(A) Gv) (i) @) (D)
B) @) Gv) @ (D)
© @) @@ @ @)
D) @) @) aGv) @)

36.

37.

38.

fodt eT & AMg SO O i
TS S ot i 9 TR Heh & 2
(i) o9 ST &1 36N

(i)  SHHEEE o e

(i) =9 I ot T

(iv) eI g

(v) it § afed

(A) (), (i), (iii) 3 (iv)

B) (i), i), (iii) 3R (v)

(©) (). (i), (iv) AR (v)

D) (i), (i), (iv) 3 (v)

ATTHUT (A) : TAT-STEAT o STER T
TeTehT i TOTerT TR feRedt 3Bt 2Tkt
el B T |

% (R) : URMI® T TS GasA
Ooaieh 3TeTT-3TeRT Y fafi=ar &
Tl ST & SFifer e i e e
B g |

(A) (R) WEl &, T (A) T ¢ |

(B) (A) W&l ¢, W] (R) ToId & |

(C) (A) 3R (R) I W€ |

(D) (A) 3T (R) I ToAT & |

frefafed 5 9 &F ¥ gFg GarE TaweT

1 URTY % I 3T & 2

(i) THa g
oA

(i) g A

(iii) A GETE TR

(iv) A e s HasE

(V) A G 3R

(A) (), (iid), (v)

B) (@), (i), (ii1), (v)

©) (iib), (v)

D) (©), (i), (ii1), (v), (v)

AETHATS T
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39.

40.

41.

On which of the following, at the
initial stage, the Indian IT companies
relying more for getting good IT
professionals ?

(A) Job Portals

(B) Placement Agencies

(C) Campus Placement

(D) All of the above

Statement (i) : Labour always get a
major share of productivity
gains.

Statement (ii) : Partial stoppage of
work by workers amounts to
strike.

(A) Statement (i) is true but (ii) is
false.

(B) Statement (ii) is true but (i) is
false.

(C) Both statements are true.

(D) Both statements are false.

Imperial Bank was established on
January 27, 1921 on the advise of

(A) J.M. Keynes
(B) Lord lllingworth
(C) King George V

(D) Winston Churchill

42,

43.

44.

Read the following events :

(i) Allowing convertibility of rupee
at the market rate in the current
account

(i1)) Nationalisation of
insurance business

general

(ii1) Establishment of IDBI

(iv) Nationalisation of life insurance
business

(v) Capital adequacy norms for
commercial banks

Arrange the events in the ascending
order of their occurrence :

(A) (), (iid), (i1), (@), (V)
B) (), (iv), (iid), (iD), ()
(©) (@), (i), (i), (v), (iv)
D) (@), (v), (i), (v), (iii)

In India, the Commercial Banks are
given license of operation by

(A) The Government of India
(B) The Ministry of Finance
(C) Reserve Bank of India

(D) Banking Companies Regulation
Act, 1949

The provisions of General Reserve in
Banking Companies are made keeping
in view the provisions of

(A) Indian Companies Act, 1956
(B) Banking Companies Act, 1949
(C) SEBI Act, 1992

(D) Statutory Auditor
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39.

ORAE T 3 WAl I o A
TR BT U HH & [0 TR
FIen ° eAfaiea § 9 69 W aAfus

TR et © 2

NSRS
(B) T wSiteEl
(C) uR&ET &I
(D) S g

AMMHAT (i) : 97 TT IARHAT AN
T 91T I UTe o € |

ARHAT (ii) : ATHRT FRT AT T ATRIH
foRTH EEaTel I € |

(A) A (i) W& §, W (i) T
g

(B) IR (i) WEl €, W= (i) o
T

(C) <M 3tfivere el & |
(D) ST SANTHIT AT € |

TES deh SHel 27, 1921 i fehgent
TeATe TR i feam T o 2

(A) . T w4
(B) S EforTered
(©) fmTsm v
(D) forged afae

42,

43.

44.

At gearet W foem Sty
(i) = @ H SR S W T H

IR i STA

(i) ST ST BT AL FH]

(ili) 3T SN 3. B T

(iv) 9 Sled W SFadd W
TR

(v) A St o folT OSil garear &
HAH

T "eAIS & Hied g % 99T H A |
@ U ARIEN 558 | e HifoT :

(A) (), (id), (i), (@), (v)

B)  (v), (iv), (iid), (iD), (1)

©) (), (), (id), (v), (iv)

D) (@), (v), (i), (v), (iii)

IRA H SARS Seht T 6] FA o o
AT I 3T & 2

(A) YRT TWHR

(B) fo g=merd

(C) fotd g @itw gfoean

(D) SfhT et fafrem sitafam, 1949

ST HHE & A e % e
HI, =fefed § 9, 69 & wagE S
T T T T

(A) 9RAE HEAT AfaFEd, 1956

(B) Skt T Sitaf=m, 1949

(C) [t (@ § & o7¥) arfufram, 1992

(D) FaHTeh 37oheTh
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45.

46.

47.

Which among the following is not true
with regard to merchant banker ?

(1) It can accept deposits.
(i1) It can advance loans.
(ii1)) It can do other banking activities.

(iv) It can be manager to a public
issue.

(A) (1), (1) and (ii1)
(B) (i), (i11) and (iv)
(C) (1), (ii1) and (iv)

(D) (1) and (iv)

Balance of Payments can be made
favourable if

(A) Exports are increased
(B) Imports are increased
(C) Devaluation of money

(D) (A)and (C)

Which one is not an objective of IMF ?

(A) To promote international
monetary co-operation

(B) To ensure balanced international
trade

(C) To finance productive efforts
according to peace-time

requirement

(D) To ensure exchange rate stability

48.

49.

50.

EPCG denotes
(A) Export Potential and Credit
Guarantee

(B) Earning Promotion and Credit
Guarantee

(C) Export Promotion and Credit

Guarantee
(D) Export Potential and Credit
Goods

Which one of the following matches
correspond to the Member and
Observer countries of the SAARC ?

(i) India, Pakistan,
Bhutan, Nepal, Sri
Afghanistan, Maldive

Bangladesh,
Lanka,

(i1) Iran, China, Japan, USA, South
Korea, European Union

(ii1) Pakistan, Nepal,
Bangladesh, Iran

India,

(iv) UK, USA, North Korea, South
Africa

(A) (i) and (iv)
(B) (i) and (iv)
(C) (i) and (i)
(D) (i) and (iii)

Which one is not an international
organisation ?

(A) SAARC
(B) ASEM
(C) ASEAN
(D) CBDT
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45.

e 9 o gy 1, [HEfaEd § 4,

I A e A ¢ 2

() I STET ARET H WHHR BT el
T

(i) TEHOTITGHATE |

(i) @& 77 dfkTT forameti i & Tehel
T

(iv) HESIHe FTEA & Yo o ®9 H

I T GHT & |
(A) (i), (ii) 3R (i)
(B) (i), (iii) 3 (iv)
(C) (i), (iif) #R (iv)
(D) (i) ¥R (iv)

P o Hl 3TheT T ST Tl
o

(A) THama =i sgmEn s

(B) 3T™TA i 9@l AT

(C) TSI =M e

(D) (A) 3R (C)

TTH ¥ HIF W AE TH TF & 3e¥d Tl

T

(A) SFRIULE Higes TWeanm
TicHTed AT

(B) Udfeld oFRIEE MR H
= =T

(C) M7 T TEvaHaren &
3R 3CRH WA H g ueH
HEAT

(D) fafaes T =t ferar & gHt=a
AT

48. TSI (EPCG) F AW &

49.

50.

(A) Traa aeTer ue | TR

(B) 3T &l Jolc U HE TR

(C) Tama =i JerEn 31 9rg TR=

(D) THara TvTen we | |

fr=ferfad 9 & == @1 9 (T T T S
) I F O™ AR qgasd < H
e € 2

(i) ¥R, qIRed™, SIS, Y,

AT, SeAehT, AL, HIeTR
(i) TE, =9, SOE, JUEE, IR
I, R i
(iii) TeREAT, e, R, SR, /A
(iv) IF, JUAT, I HIET, IRI0T
3THRTRT
(A)  (iii) 3T (iv)

(B) (i) 3R (iv)
(C) (i) 3 (i)
(D) (i) 3 (iii)

fr=fefad & & @9 T RIS T
T T2

(A) ¥ (TH T T 3N )

(B) TwHEUH

(C) TTEEUT

(D) wratera
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